
Profil 40x40
AlMgSi 0,5 F22
Ix :    100317 mm
Wx :      4970 mm³
KKKKgggg    ::::                            1111,,,,66662222////mmmm
    

Profil 80x80
AlMgSi 0,5 F22
Ix :    1236111 mm
Wx :      30087 mm³
KKKKgggg    ::::                            4444,,,,22220000////mmmm
    

Profil 40x80
AlMgSi 0,5 F22
Ix :    178500 mm
Wx :      8920 mm³
Iy :    678900 mm
Wy :    16970 mm³
KKKKgggg    ::::                        2222,,,,88885555////mmmm
    

4

4

4

4

ads sortiertechnik gmbh

Profile



Profile und Zubehör

Bezeichnung     Artikel Nr.:

Al-Profil 40x40                            PR4040

Al-Profil 40x80                            PR4080

Al-Profil 80x80                            PR8080

Verbindungsset 40                     VS40

Verbindungsset 80                     VS80

Abdeckkappe 40x40                   AK40

Al-Nutenstein 16x25                   NST 1625  M4
Al-Nutenstein 16x25                   NST 1625  M5
Al-Nutenstein 16x25                   NST 1625  M6
Al-Nutenstein 16x25                   NST 1625  M8

Al-Nutenstein 16x40                   NST 1640  M8
 

Al-Nutenstein 16x80
Lochabstand 40 M8                    NST 168040

Al-Nutenstein 16x80
Lochabstand 65 M8                    NST 168065

Abdeckkappe 40x80                   AK84

Abdeckkappe 80x80                   AK80

ads sortiertechnik gmbh



Profile und Zubehör

Bezeichnung       Artikel Nr.:

Verbindungsplatte 40                  VP40

Verbindungsplatte 40x80             VP84

Winkel 40x40                              WI4040
Abdeckkappe                              AKWI4040

ST-Nutenstein 20x20                  NST 2020  M4
ST-Nutenstein 20x20                  NST 2020  M5
ST-Nutenstein 20x20                  NST 2020  M6
ST-Nutenstein 20x20                  NST 2020  M8

Abdeck + Einfassprofil                PR-AE 10
 

Verbindungsgelenk 40                VGL4040

ads sortiertechnik gmbh

Verbindungsplatte 80x80             VP80

Winkel 40x80                              WI4080
Abdeckkappe                              AKWI4080

Schiebeplatte 40                          SPL40



Profile und Zubehör

Bezeichnung     Artikel Nr.:

Kunststoffscharnier 40                K-Scharnier 40

Stahlscharnier 40                        S-Scharnier 40

Eckwinkel 40x40                          EWI 4040
Abdeckkappe                               AKEWI4040

Hammerschraube M6x20-M6x60   HS6x20-HS6x60
Hammerschraube M8x20-M8x60   HS8x20-HS8x60
 

Rollen   Bockrollen
  Lenkrollen
  Geräterollen

ads sortiertechnik gmbh

Doppelkugelschnäpper 40            DKS 40 M5

Stellfuß Ø60; Ø80                          STF 60; STF 80
                                                       M8; M10; M12; M16 



Profile und Zubehör

Bezeichnung     Artikel Nr.:

Scheibendichtung                        G-SD 40

Uniblock 18                                 Uni18 M5

Kabelclip                                     K-Clip

Bodenbefestigung                        BB 40x180

Polycarbonat 4; 6; 8 dick               Platten oder Zuschnitte

ads sortiertechnik gmbh

Bügelgriff                                     B-Griff 122; B-Griff 152

Maschinengriff                              M-Griff 135


